Questionl. IIDPI:IEI'JI:

Write down the output of each of the following programs. Assume all necessary fibraries are included.

= Ifthe program includes a syntax error, write Syntax Error
- Ifmeprngmmnmaninl‘mﬂehnp,mﬂelm

“a
int main () {
for{int num = 2; num <=6:)
{

switch (num)

( i
‘ I
:nut« num * {++num) << endl;
cased:

cout << [{+Hnum%2=0)7 *True":"False®) << end;

case s
cout << (num * num) <<endl;
{} _I!ww
intnum=1; - .
NUMikE; :
}
cout << num+ <<end]; |
) : s _ i
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void tryMefint& v) { fﬂ/J
int val=w2; ‘ﬂ/
HfivX2=0]{
vak-+; .
v:ﬂ'fﬂ - '.J#
Jelse {-——==-
val—
vav+5;
]
out << v <<, " ccyval ecendl;
)
int main() {
intx=5;
for (inl count = 1; count < 5; count++)
tryMe(s);
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gues'tmnl- (10P0 ints):

Write a C++ program that asks th€ user to enter a stream of Chafet = of characters, and will print out the count of
vowel letters in the stream {vowel letters m Enghsh are:AE 1,0, U]

The stream of characters shuuld be ended with the forward slash character (i.e'f)-

vou need to create a user defined function called isVowel() to check if a cerlam character:s avowel letter
— ornot.

e .

Hint: Do not use string library. o e
H include <vo sireanm 2
ising namesPace ©

Bxample of the program output:

Enter a stream of characters ended by /

AabbBaccES00pBI4/ V4 maint ) LT '
Count of vowels in the stream am is 6 \ —~ OO
o 0 E RO
ou.I-CC .yamm o} chavd
} ;o ) . . '
. /s \“-a‘-'“’ o
* c (.J? . Y
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uestion3. (10 Points):

\Write a C++ program that uses the Ip set-fye positive integers from the user. The program then needs
1o find and output the integer whic ncludes the largest count of digit 1.

You need 10 create a user defined function

called getOnes() to count and return the total number of digit 1
in a given integer.

Example of program output: g . e i

Enter 5 integers: [] (_; ‘) \Tj [7 = [2) il
982011 ( ) AAY/ZA\ AN (@)
65101 ’ —/ AL N U N

119191
3890 '
33178

The integer with the largest total number of 1’sis: 119191

Answer
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